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UGC NET PAPER 2 MARCH 2, 2022 SHIFT 2 TELUGU QUESTION PAPER

Topic:- GP38_D3_SHZ _SET2_A

1) Study the given table carefully and answer the question that follows :

The following takle gives the percentage of marks obtained by & students in & different subjects in an examination.

Mote: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
Physics Chermistry Math History Computer | Hindi
Student

(100) (100) (100) (50) Science (50)| (50)

A a0 76 b3 40 36 24

B 90 68 72 42 38 26

C 85 81 75 38 12 31

(M 75 79 58 28 28 34

E 45 &5 62 31 29 28

F 68 72 &8 26 34 30

FIzuil W arergEar afenr it 31 av amentya gaA aw s Gl

ofier & onf Fmenft & oo witgn 3t 6 REniEt Zer 6 aoer - o R 3 gre Beg o st wr gitrora e

Foouft ; oteom 3 & o6 dem g R 3 aftneaw st o a3 aown 3

fera=T { ARrpIR D)
difeRbl | Tawmel fsmer | ST | slomr | eepes R
Rrexsfi B2 (50)
{100} (100} {100} | (50) {50}
A 80 76 63 40 36 24
B 50 6B 72 42 38 26
C 85 81 75 38 32 i
D 75 79 58 28 28 i4
E 45 &5 62 31 29 28
F c8 72 63 26 34 30

What is the percentage of total marks cbhtained by student A?

Tremreit A i grm e 20 age aient o gierer g ?

[Question ID = 2730][Question Description = S2_q5Nz_PG_GP38_Q01]

1. 71

[Option ID = 10917]

2. 74

[Option ID = 10918]

3. 73

[Option ID = 10919]

4, 72

[Option ID = 10920]

2) Study the given table carefully and answer the question that follows :

The following takle gives the percentage of marks obtained by & students in & different subjects in an examination.

Mote: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
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Physics Chemistry Math History | ¢ omputer | Hindi
Student

{100} {100) {100) {50) Science (B0)| (30)
A &0 76 63 40 36 24
B 90 68 72z 42 a8 26
C 85 81 75 38 32 31
D Fi 79 58 28 28 34
E 43 63 62 3 9 28
F 68 72 63 26 34 30

AUl B ey afee sfiz T3 O snenfsE ged aa e e

i< €1 o€ wrevlt & o uflen A & ReEnfRd oET 6 et - et Rt 3 O fBew s st o1 gitert ffen 3

ot ; e 3 £ 5 Jn gl A # fieras sl & 90 # aarn &

Rverer (aiftraires)
difeRbl | Tawmel fsmer | ST | siomr | aeepes R
et & (50)
{100} (100} {100} | (50) {50}
A B0 76 63 40 36 24
B 50 68 72 42 38 26
C 85 81 75 38 32 i
D 75 79 58 28 28 34
E 45 63 &2 3 29 18
F G8 72 63 26 34 30

What is the difference of percentage in the total marks of students D and E?

Fremeff D afiz E & ager airst o gftem & Ruaon sime & 7

[Question ID = 2726][Question Description = $2_qSNz_PG_GP38_Q02]

1. 9.28

[Option ID = 10901]

2. 9.68

[Option 1D = 10302]

30943

[Option ID = 10903]

4, 9.34

[Option ID = 10904]

3) study the given table carefully and answer the question that follows :

The following table gives the percentage of marks obtained by 6 students in & different subjects in an examination.

Mote: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
Physics Cheristry Math History | ¢ omputer | Hindi
Student
(100} (100) (100) (50) Science (B0)| (30)
A 80 76 68 40 36 24
B 20 638 72 42 38 26
c 85 81 75 38 32 31
D i 79 58 28 28 34
E 43 63 62 31 19 28
F 68 72 63 26 34 30

AR w1 ey Ui ofiz T3 U senfE ged an e A
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i< €1 o1 wrevft & o uflen A & RenfR mET 6 et - et et 3 o Bew s st o1 gitert e 3

ot ; e 3 4 5 Fn g faue # sfteray sl & 9 f aarn &

Fasier (siferepiferes)
diftRB! | Torm fenw | ot | e | wearee R
fRremett & (50)
(100) (100) (100) | (50 (50)
A 20 76 b 40 36 24
B 80 68 72 42 38 26
C B5 21 75 38 32 k3|
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

What is the average marks of students in Physics, Chemistry, and Math?

sitferns fasmer, Famae fesmer Az siftng 3t Rl w i o e g ?

[Question ID = 2727][Question Description = $2_qSNz_PG_GP38_Q03]

1. 212.6

[Option ID = 10905]
2. 214.5

[Option 1D = 10906]
3. M3.7

[Option ID = 10907]
4. 210.4

[Option ID = 10908]

4) study the given table carefully and answer the guestion that follows :

The following table gives the percentage of marks obtained by 6 students in & different subjects in an examination.

Mote: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
Physics Cheristry Math History | ¢ omputer | Hindi
Student
(100} (100) (100) (50) Science (50)| (5Q)
F. &0 76 68 40 36 24
B 20 63 72 42 38 26
c 85 81 75 38 32 31
D 73 79 58 28 28 34
E 43 63 62 3 9 28
F 68 72 68 26 34 30

AR w1 ey uiee ofiz T3 O senfE ged an e e

i< €1 o1 Frevft & o uflen A & RenfR oET 6 et - et et 3 O fBew s st @1 gitert e 3

oot ; e 3 4 5 Fn g e # afiesas sl & 90 f aarn &

Ererer (miftrecni?ies)
YT e TarT e | ot | sRvem | o R
st &= (50)
(100) (100) (100} | (50) {50}
A 20 76 68 40 36 24
B g0 68 72 42 38 26
C 85 &1 75 38 32 k3
D 75 79 58 28 28 34
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45

65

62 3

29 1B

68

72

63 26

34 30

Which student obtained maximum marks?

Fioa o=l &1 Aftrsaw s g e 7

[Question ID = 2728][Question Description = $2_qSNz_PG_GP38_Q04]

1. A

[Option ID = 10909]

2. B

[Option ID = 10910]

Jaill

[Option ID = 10911]

4. D

[Option 1D = 10912]

5) Study the given table carefully and answer the question that follows :

The following table gives the percentage of marks obtained by 6 students in & different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
FPhysics Cherristry Math History Computer | Hindi
Student
{100} (100) (100) (50) Science (5Q) (50)
A 80 76 68 40 i6 24
B 90 63 72 42 38 26
c 8h 81 75 38 32 31
b 73 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 14 30

AUl B e Ui ofiz T3 uE senfE ged an e A

Sl £ wrd mrlt & ves aflgy F & Frend@al zor 6 sres - sroeT el 3 oy Ry sny aiest @t gftionr e &

fecault @ worsses A &Y w1 siwy grdes faeer 3 arlPrerre siest 9 e o aoen B

Rrerer (aiftraitres)
iftrbl | o Remer | ot | sfem | wowies fasms
et &= (50)
(100} (100} {100} | (50} (50}
A B8O 76 b3 40 36 24
B %0 &8 72 42 38 26
C 85 81 75 38 32 KR |
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 63 26 34 30

Find out the number of students who obtained more than ar equal to 0% marks in all subjects?

I feenizh @61 dwm o S e i e & 0% w s air s ga A ¢

[Question ID = 2729][Question Description = $2_qSNz_PG_GP38_Q05]

1. 4

[Option ID = 10913]

23

[Option ID = 10914]

Bl

[Option ID = 10915]
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4.1
[Option ID = 10916]
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Topic:- GP38_D3_5HZ_5ETZ_B

1) The theory of Zone of Proximal Development was proposed by :
Ffiazer R @ site & fgia o fead g giimoiza e srm ?

[Question ID = 2731][Question Description = S2_qSNz_PG_GP38_Q06]
1. Piaget/Nrrgy

[Option ID = 10921]
2. Freud/wrs

[Option ID = 10922]
3. Vyootsky/amsicadr

[Option ID = 10923]
4, Bloom/=ga

[Option 1D = 10924]

2) In libraries, the process of digitization began with services in the following order :
A. Periodicals and large reference works

B. Cataloguing services

C. Periodical indexing and abstracting services

D. Book publishing

Choose the correct answer from the options given below :

gaepIerl 9 Kool Aanail @ A1 gey sl <&t RfiiResn &t gitpen @ erelkifaa o 3 ¢
A. amafire uleroe iz gea e am orl

B. =ht gomst <6t Jad

C. smaftrr affpot spAlReT g sfiz AR JAad

D. gzarns w1 Yool

ol 8u a1 fRrpeul 3 A w16l 3w @l oram ifans :

[Question ID = 2732][Question Description = $2_qSNz_PG_GP38_Q07]
1. A, B,C, D,

[Option ID = 10925]
2. B,C,AD

[Option ID = 10926]
3. C,B,D, A

[Option ID = 10927]
4. D, A B, C

[Option ID = 10928]

3) Given below are two statements ;

Statement I: Short-term memory encompasses encoding and short-term storage and manipulation,

Statement II: Short-term memory has a limited capacity.

In light of the above statements, choose the most appropriate answer from the options given below

AT <) Tore Rw s E

e - | ; AcudIierd TP Ty ol AT ACUDID s iz Fig - s St g 1 onfiel oxdl 3

e - 1| ; srcumiteres gt & Hifa s 2t 8
IR DUl & Al 3, ofla v s1e fsedl I 3 T IWEP 302 o add Difam ;

[Question ID = 2733][Question Description = $2_qSNz_PG_GP38_Q08]
1. Both Staternent | and Statement [l are correct/wem | &z 1l el 8t &

[Option ID = 10929]
2. Both Statement | and Statement |l are incorrect fowem | #E || 6l s &

[Option 1D = 10930]
3. Statement | is correct but Statement Il is incorrect/mem | 22t 3, fireg wea || aie &

[Option 1D = 10931]
4, Statement | is incorrect but Statement [l is correct/wem | 7o 2, Fveg wem || =28t 8
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[Option 1D = 10932]

4) Which tools will you use to prepare schedules and class time tables?

A. Microsoft Qutlook
B. Trello

C. Google Calendar
D. Tally

E. Koha

Choose the correct answer from the options given below:

DRIpAAL 37 e FHA - HIRU D] 112 W AT I Dol Hl DAl w1 Fu=dlet sl ?

A. s A
B. teit

C. spra Howse

D. &t

E. @izt

oIy few o1e fAmscal & 3 A8 Sz o1 a9ga it

[Question ID = 2734][Question Description = $2_q5Nz_PG_GP38_Q09]

1. A,Band Conly/@am A, Bafiz C

[Option ID = 10933]
2. B,Cand Donly/@rmm B, Caie D

[Option ID = 10934]
3. C,Dand Eonlyfdam C, DA E

[Option ID = 10935]
4, A, CandEonly/gam A, C3iz E

[Option ID = 10936]

5) Match List | with List Il

List |

List Il

Model of Teaching

Developer

4. Positive interdependence

|. Robert Slavin

B. Structured inquiry

Il. Fannie Shaftel

C. Group investigation

lll, Roger Johnson

I. Role playing

I¥. John Dewey

Choose the correct answer from the options given below:

It | w1 et Il A R B ;

et -1 et -1l

{Fngror sifser) |(Rrrre st wt Rigor)
A, FTREAET GEae Bnken . ez TenfEem

B, izRw geo 1. @it iR

C. FdE Aeauuy . 2 sifeTar

D. sifirest Brdea

|W.Ei‘i‘ﬁfl%£i’i

ol By w0y Frasedl 3 3 wd) wee gftny @

[Question ID = 2735][Question Description = $2_q5Nz_PG_GP38_Q10]

1. A-II,B-1,C-I¥,D-I

[Option ID = 10937]
2. A-L,B-I¥,C-lI,D-N

[Option ID = 10938]
3. A-IV,B-Il,C-lIl,D-l

[Option ID = 10939]
4, A-1l,B-l,C-1,D-¥

prepp
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[Option ID = 10940]

6) Which one of the following is a non-parametric statistic?
freaiferfina 3 A oot vy 31z - grafers aiflsadn § 7

[Question ID = 2736][Question Description = $2_qSNz_PG_GP38_Q11]
1. F- statistic/F - miF=rit

[Option ID = 10941]
2. t - statistic/t - =ifisrsl

[Option ID = 10942]
3. Pearson's correlation/dieeder o 2w ki

[Option ID = 10943]
4. Spearman's correlation/sirE=iie o 75 - ZET

[Option ID = 10944]

7) Given below are two statements
Statement I: Use of multivariate statistics in social research has increased due to the availability of statistical software,
Statement |l: Multivariate statistics are easier to comprehend as compared to the bi-variate statistics,

In light of the above statements, choose the correct answer from the options given below :

offr <1 erer Ru 0 & |

were - | @ manleres sigzienel # dguz Hifteab! @1 usilsl Aifisada anredens B Jucrcerl @ ©Iv] 96 511 &
werel - || 1 agar wifizrdl, fras aifisrdbt & gooen # werser 7 arars 2

IWRYTe Dol @ Alcila A, sl 16w s1e faocul 3 3 w1l a7 B o6t Difare @

[Question ID = 2737][Question Description = $2_q5Nz_PG_GP38_Q12]
1. Both Statement | and Statement Il are true/=em | iz |l S&i 3w &

[Option ID = 10945]
2. Both Statement | and Statement [l are false/wer | & 1| Sl spwer &

[Option 1D = 10946]
3. Statement | is true but Statement Il is false/mew | 37 &, Frog @ua |l oera 2

[Option ID = 10947]
4, Statement | is false but Statement Il is true/wem | spwa 2, Fosg @ | s &

[Option ID = 10948]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The value of correlation coefficient is in the range of -1 to +1.

Reason R : Correlation between two variables doesn't help in predicting the value of a variable even if we know the value
of another variable.

In light of the above statements, choose the correct answer from the options given below

i) ot et B a0 & ©  wep afdnpera (Assertion A) @ u # 3iiz o1 33 wrwt (Reason R) S wa 4 .

Afirperm (A) | HAEder ST o #6t -1 A +1 & uwra & dka 3 g 2

@w1vl (R) : 35w 21 @3l @ W 3 b @ © Al O Yalgare ol d OF AERRI ol Berdt 2, af? 23 gy az o aner uar oft &t
IUATe Bl @ ACE #, R By famed # 3 718 saz o wre Hifse |

[Question ID = 2738][Question Description = $2_q5Nz_PG_GP38_Q13]
1. Both A and R are true and R is the correct explanation of A/(A) afiz (R) gt e & Atz (R), (A) & 28 o= &

[Option ID = 10949]
2. Both A and R are true but R is MOT the correct explanation of A/ (A} stz (R) =iat 7w & gz=gg (R), (A) @6 =t oo =i 8

[Option ID = 10950]
3. Ais true but R is false/(A) 37a & weeg (R) s &

[Option ID = 10951]
4, Ais false but R is true/(A) s 2 wag (R) e &

[Option ID = 10952]

9) Focus groups as a technique is especially valuable in which of the following scenarios?
A, When the researcher has perfect clarity about the research,
B, For obtaining general background about the topic or issue,

C. For interpreting previously obtained quantitative results.
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D. When the researcher is interested in establishing a causal relationship between two variables.

E. For generating a level of understanding about influences in the participants’ world.
Choose the correct answer from the options given below:

forrafelion ufyzedl 3 ow aweiks © wu # DR w9 Rdy wu 3 Fxish 3 @

A. s/ eieroal @1 onter @ aR 3 gdwior Fasedar &l

B. Zifts srerar A @ aF # A& HBRDT YIA 3o

C. g 3 g Reu s1r afsmnescs afymil B samesn ween

D. sw giterasdt 31 @R @ da BRUITHS 4Ll @1 FEeT w3 B 5701 33T 8t

E. gftnstht grn d genal & an 3 w9t @ 7= scued wIen

ol f8u a1 fRrpeul 3 A w18l Se @l w=m ifans

[Question ID = 2739][Question Description = 52_qSNz_PG_GP38_Q14]
1. A, Band D only/daa A, B afiz D

[Option ID = 10953)
2. B,CandEonly/&ear B, C iz E

[Option ID = 10954]
3. B,DandEonly/®=a B, D sz E

[Option ID = 10955]
4, C,DandEonly/gam C, DA E

[Option ID = 10956]

10) Match List | with List Il

List | List Il
Statistical Termleeschptian

A, Mominal l. Spread in values of data
B. Ordinal |. Expected value

C. Mean [ll. Ranking

', Yariance ¥, Categorization

Choose the correct answer from the options given below:

et | 1 3t -1l A AR b ;

oyt | oyt -l
(B2 1B e R (aviar)

A anfdmT |. oo o sl i dora
B. i Il grenfor wer

. sitara 1, “Rrox

D. qzen IV, sl

o) i o et & 2 25t amz gfem ©

[Question ID = 2740][Question Description = $2_q5Nz_PG_GP38_Q15]
1, A-ll ,B-IV,C-Nl,D-l

[Option ID = 10957]
2. A-IV,B-ll,C-Il,D-l

[Option 1D = 10958]
3. AN, B, C-IV,D-I

[Option ID = 10959]
4. A-l,B-Il,C-Iv,D-l

[Option ID = 10960]

11) In non-verbal communication, 'Chronemics’ refers to:
s-enfecm AYUY 3 wloildaa’ ot Jdfra & 7
[Question ID = 2741][Question Description = 52_qSNz_PG_GP38_Q16]

1. Time/mm=

[Option ID = 10961]
2. Place/zema

[Option ID = 10962]
3. Space/awoTel

[Option ID = 10963]
4, Person/cfes

prepp
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[Option ID = 10964]

12) In communication, semantic barrier refers to :
Fiquor #, oreorel wien foad wdffa & 7

[Question ID = 2742][Question Description = $2_qSNz_PG_GP38_Q17]
1. Denctative meaning/ gzt

[Option ID = 10965]
2. Varied connotations/fuf@er sgeere!

[Option ID = 10966]
3, Truth/=e=

[Option ID = 10967]
4. Singular meaningfewa a1ef arer

[Option ID = 10968]

13) A leave application from a clerk to the principal of the institution, is an example of ;
U FTelrel @ Yeorr! o1 v fRiftis 21 gim sl ol grefemudg foz1 v o1 g 8 7

[Question ID = 2743][Question Description = 52_q5Nz_PG_GP38_Q18]
1. Downward communication/migel simer

[Option ID = 10969]
2. Upward communication/zedaz amwer

[Option ID = 10970]
3. Horizontal communication/ Sifer it

[Option ID = 10971]
4, General communication/ arsT Fam

[Option ID = 10972]

14) In which one of the following types of communication, the client initiates a transaction by requesting information from
a server?

AT W A POR # 9o Adv A IOl YIA ool D AT R Aarel Ferasr gy w §

[Question ID = 2744][Question Description = $2_qSNz_PG_GP38_Q19]
1. Education Technology/Bisn giiiswst

[Option ID = 10973]
2. Pull Technology/gm giehfées

[Option ID = 10974]
3. Ancient Technology/uelsr gi=nErE:

[Option ID = 10975]
4. Push Technology/ gy qief3rebt

[Option ID = 10976]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Being judgemental on the part of a teacher is a barrier to communication,

Reason R: For effective learning outcomes, the teacher should expose the ignorance of students.

In light of the above statements, choose the correct answer from the options given below :

ofiY 31 e Ru sm | wop aifdroera (Assertion A) @ =u 3 iz gz sas @rer (Reason R) & w=a # ¢
firererat (A) ; Biere Bt aow 3 71 e don Fwwl &6t ww aen &

o101 (R) : aidl affrers ufymme & fee Rigies ©f MenRil & a1y o goc oo arfde

3UNeh Bl o reld 3, oiky fdu famedl 3 21 7l saz &1 awe Hifse ;

[Question ID = 2745][Question Description = $2_q5Nz_PG_GP38_Q20]
1. Both A and R are true and R is the correct explanation of A/(A) 3z (R) Seil a7 & 4z (R), (A) & =8 o= &

[Option ID = 10977]
2. Both A and R are true but R is MOT the correct explanation of A/(A) iz (R) Sigi = # uzsg (R), (A) &5 78 =ne=m =t &

[Option ID = 10978]
3. Afs true but R is false/(A) 31 &, vz (R) s 2

[Option ID = 10979]
4, Ais false but R is true/(A) sera &, mag (R) wrr &

[Option ID = 10980]

16) In the series 358, 364, 370, _ _ _ , what will be the 12t term?
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ojzrer 358, 364, 370, - - -, 3 12 ai ag o Sorr ?

[Question ID = 2746][Question Description = $2_qSNz_PG_GP38_Q21]
1. 420

[Option ID = 10981]
2. 424

[Option ID = 10982]
3, 428

[Option 1D = 10983]
4. 4337

[Option ID = 10984)]

17) Given below are two statements :

Statement I: An item is sold for ¥145 at a loss of 20%. The cost price of the item is ¥185,
Statement |l: The average of first 30 natural numbers is 15.5.

In light of the above statements, choose the correct answer from the options given below
ofidl <t werer Ru s & |

oo - | v arg 20% Hrafi oz 145 = AN =m & arg o aea gz 185 %, 8

werel - |l ; ge 30 yreirs sAwarai o sfiaa 15,5 g &

IWYTe Dol @ Alcla #, sl 6w s1e fawcul 3 3 w1l a7 DI o6t Difare @

[Question ID = 2747][Question Description = $2_q5Nz_PG_GP38_Q22]
1. Both Statement | and Statement Il are true /=@ | iz |l S&f 3y &

[Option ID = 10985]
2. Both Statement | and Statement [l are false/mem | dr || Sl sreea £

[Option ID = 10986]
3. Statement | is true but Statement Il is false/mew | 77 2, Prog @ud | oera 2

[Option ID = 10987]
4, Statement | is false but Statement Il is true/wem | spwa &, Fosg wem || a8

[Option ID = 10988]

18) Consider the following fractions:

A. 11717

B. 5/6

C. 2/3

D. 4/11

E. 6/11

Choose the correct answer from the options given below
foremtert3a fiveail a7 Fane $ifsre :

A, 11/17

B. 5/6

C. 2/3

D. 4/11

E. 6/11

Rraftitiaa 3 wia s agar gan w8t s & 7

[Question ID = 2748][Question Description = 52_qSNz_PG_GP38_Q23]
1. DecE<A<C=B

[Option ID = 10989]
2. D<A<E=<B=<(

[Option ID = 10990]
3. D<B<C=E=A

[Option ID = 10991]
4 A=<=D=<=C=<B<E

[Option ID = 10992]

19) The angle made by the minute hand of a clock while moving from 3:45 pm to 6pm is ;

prepp
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ver sier a3t 3 Brare @ g Zrer srawrs 3:45 w5t 7 aravns 6 @31 @B oit S AR geIRN ST Ten wYoT B B

[Question ID = 2749][Question Description = $2_qSNz_PG_GP38_Q24]
1S40

[Option ID = 10993]
2. 7407

[Option ID = 10994]
3, 810°

[Option ID = 10995]
4. 510°

[Option ID = 109%6]

prepp
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20) Four bells begin to toll together and then toll at intervals of 3, 5, 7 and 10 seconds respectively. They will toll together

next after :

1z Hiedl ueb F1r Solel grH Bl 2 3tz fivz 4 agaer: 3, 5, 7 sz 10 3dvs o aiaard oz @oredt § 9 o 3 b Al gon: ol ADUs 91g

Taell ?

[Question ID = 2750][Question Description = 52_qSNz_PG_GP38_Q25]
1. 840 seconds/840 &g

[Option ID = 10997]
2. 480 seconds /480 Ig5ve

[Option ID = 10998]
3. 210 seconds/210 s

[Option ID = 10999]
4, 240 seconds/240 igwe

[Option ID = 11000]

21) Which of the following statements correctly apply to inductive arguments?

A. They are neither conclusively valid nor invalid.

B. Adding new premises makes no difference to the argument,
C. Adding new premises may strengthen/weaken the argument,
D. Conclusion follows from premises with absolute necessity.
Choose the correct answer from the options given below:
MPTHGRHS daarat a2 afaliaa & 31 oo A s 78 aflds A apLaa &7
A, O o1 @ aiféar a0 A e B oz odf a3

B. oIz anerrzara?] o onfdid ool A adarae U I NI ol Usar 2

C. oIT aenaras] Bl i ool A dmaras A9D / gda 3 Tddr &

D. forsist smaeaper drel amenzara 3 foreod former &

olfar 166 s1e famsedl 3 3 F7él Iz &1 aae Hifag ¢

[Question ID = 2751][Question Description = S2_qSNz_PG_GP38_Q26]
1. Aand Donly/axwT A iz O

[Option ID = 11001]
2. Aand C only/@aa A & C

[Option 1D = 11002)
3. Band Donly/@ae B @iz D

[Option ID = 11003]
4, AandBonly/®am AdR B

[Option ID = 11004]

22) Match List | with List Il

List | List Il

In Square of opposition Resultant propasitions

A. If ‘Mo stars are Dull' is True I. 'E' and " are Undetermined
B. If 'some flowers are fragrant' is True Il. 'E' is False and *I' is True

C. If "All sweets are sugary” is Trua lll. ‘A" and "0" are Undetermined
B. If 'some animals are not mammals’ is TruellY. "A’ is False: "0 is True

Choose the correct answer from the options given below:

I -l Y Rl -l 3@ e e

et -l et -l
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(Reter - sy & ) (afroieit semermrT)

A, afe ‘1$ Y wiftrder ol B wew § I. 'E" sz "I" anforfien ¥

B, @l w3 @ Fjorge § 3o @ Il. B’ arerear & stz ' se B
C. af? "“aslt Rrorgai divht ach & aex @ Il. A’ 3ifz 'O aforfiym &

D, =it “amr sors soonndt ol ¥ aew # IV, A’ s &, otz "0 mew &

oitd 2w o Rreredl # 3 w4t ooz gm @

[Question ID = 2752][Question Description = $2_q5Nz_PG_GP38_Q27]
1. A-IV,B-lIl,C-Il,D-l

[Option ID = 11005]
2. A-l1,B-N,C-IV,D-

[Option ID = 11006]
3. A-Il,B-IV,C-l,D-

[Option 1D = 11007]
4, A-l,B-lIl,C-l,D-I¥

[Option ID = 11008]

23) ldentify the fallacy committed in the argument,

All men who understand women are potentially perfect husbands.

All potentially perfect husbands are men of infinite patience.

Therefore, some men of infinite patience are men who understand women,
= dodad 3 S B AR |

it gmy il AR @ JAIEAA E 4 wa: 9Jeo ufa Bk 2

it AAsra: 9es ofty seiifim &d e 81 &

vafere, oo adifha &4 af gea & gea § Sit afdar o aasd §

[Question ID = 2753][Question Description = $2_qSNz_PG_GP38_Q28]
1. Fallacy of IWicit Major/ =i - =mes - g

[Option ID = 11009]
2. Fallacy of llicit Minor/seng - 281 - g

[Option ID = 11010]
3. Existential fallacy/afrratier - S

[Option 1D = 11011]
4. Fallacy of Undistributed Middle/smma - &3 - gm

[Option ID = 11012]

24) In the Nyaya system, what is an inference called when it is based in its middle term being only positively related to the
major term?

IRl fighe #, dvael 71 Ue 3 araed WU 3 HdiRA Siol & iolHTol @Y TRl wal Sl & 3/ AE S & U Uz anenfed aiar 2

[Question ID = 2754][Question Description = S2_qSNz_PG_GP38_Q29]
1. Kevatarvayi/@romaord

[Option ID = 11013]
2. Kevala-vyatirekif@am - =ifteeht

[Option ID = 11014]
3. Anvaya-vyatireki/ s - eafedd!

[Option ID = 11015]
4. Vyatirekanvayi /eafimeash

[Option ID = 11016]

25) Given below are two statements ;

Statement I: In the Nyaya system of inference, the major term (sadhya) can exist without the middle term (hetu).
Statement |l: According to the Nyaya system, the middle term {(hetu) cannot exist without the major term (sadhya).
In light of the above statements, choose the correct answer from the options given below

oIkl §l e Ru s 3 :

D - | 1 iAol D+l Raigia 3 A - ue 3 - Us & Ken sil¥cadarel &l w1 &
wead - || : 7 fhigia © siuR 3g-us ara-us @ e alaraare &8 @ Jwa &
IUTe wuel @ el #, sila v o8 fepeal 3 A A8 3 ! @ difens
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[Question ID = 2755][Question Description = $2_qSNz_PG_GP38_Q30]
1. Both Statement | and Statement 1 are true/grm | = | SET = &

[Option ID = 11017]
2. Both Statement | and Statement |l are false/mem | 37 || 36 T &

[Option ID = 11018]
3. Statement | is true but Statement Il is false/wem | w3 E, fiveg wem 1 apwa &

[Option ID = 11019]
4. Statement | is false but Statement Il is true/®ue | sera 8, Roog oot || a7 2

[Option ID = 11020]

26) Bluetooth is:

oIce &

[Question ID = 2756][Question Description = $2_q5Nz_PG_GP38_Q31]
1. Wireless LAN protocol/arnem o ¢ o Qadia

[Option ID = 11021]
2. Short-range data transmission protocol/og 33 =wr gamer giksiT

[Option ID = 11022]
3. Interoperability protocol/ s qeresie gieidie

[Option ID = 11023]
4. Peer-to-peer networking protocol /aweseh () 3 ereslt (diez) seafider qesie

[Option ID = 11024]

27) What is Pixel density?
Rya3Ye1 aolca gan & ?

[Question ID = 2757][Question Description = $2_qSNz_PG_GP38_Q32]
1. Number of pixels per column and per row on a monitor /o Afeiiey ux gfer oicw 203 gty dits edea &t J=r

[Option ID = 11025]
2. Number of pixels per square centimetre/gftre! Ikl ndesm & Z==m

[Option ID = 11026]
3. Number of pixels that make up an image /fieer &1 S5= ol i R’ &1 somae 34 ggee 8

[Option ID = 11027]
4. Number of horizontal and vertical pixels that make up a screen display/iffm iz Fewiie Frrdca 6 dwn St B oo e o g 8 v &

[Option ID = 11028]

28) Given below are two statements: regarding the JPEG file {Joint Photographic Experts Group) :
Statement I: JPEG files use a lossy format file compression method.

Statement |l: JPEG is used to store photographs as a reduced file size.

In light of the above statements, choose the correct answer from the options given below

JPEG (sarc widepibe waaud eg) @ an 3 ol &) oyl Re sme §

wed - | ¢ JPEG wisen & g yfreu wiser Fidise f[if#r w1 suzier st 8

wad - Il ¢ JPEG w1 3urieT o Rpw a1 B PR @ %4 A BICHRE] Wl 35w o 8k &

Iudte Wl @ el 3, ofla ow °1e Repedl 3 A A8 307 ©1 oo S ©

[Question ID = 2758][Question Description = 52_qSNz_PG_GP38_0Q33]

1. Both Statement | and Statement || are true//oem | 3= || S&t @ca 3

[Option ID = 11029]
2. Both Statement | and Statement [l are false/samr | i || S a5y &

[Option ID = 11030]
3. Statement [ is true but Statement Il is false/@wem | == &, Rreg wem | s 2

[Option ID = 11031]
4. Statement | is false but Statement Il is true/=es | amm &, freg wem || = 8

[Option ID = 11032]

29) Which of the following statements are correct regarding Random Access Memory (RAM)?
A. It is an internal chip where data is temporarily stored

B. It stores the part of operating system currently in use

C. It is used to store the BIOS

D. It is non-volatile memory
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Choose the correct answer from the options given below:

Yosa Yada Ad (307 ¢ ow) B an i Beafifia oo oua w8 oua o gite
A. B v ardfse R it & B s @ srearit wu A sisia Ko sor &

B. @g ariamer & 3uzilet 81 33 soaRfds1 RBieca @ w161 @1 35K @ 3

C. oot Fu=iiet =l and 3l oA O %ISR 3 S &

D. Uz iz - dlushia (diarrse) aad &

i) f8u a1e Rrpoal 3 A w16l Sne @l w=s ifens :

[Question ID = 2759][Question Description = 52_qSNz_PG_GP38_Q34]
1. A,Band Conly/@am A, Baiz C

[Option ID = 11033]
2. CandDonly/@aa C iz D

[Option ID = 11034]
3. Aand Bonly/dam A4 B

[Option 1D = 11035]
4. A, CandDonly/@am A, Caz D

[Option ID = 11036]

30) Match List | with List Il

List | JList 1

Type of Software |Examp[e

4, Word Processor |I. Mac

B. Database |II. Open-office

C. Operating system |IIL Cracle

D. Utilities lIv. Anti-virus

Choose the correct answer from the options given below:

et -l el -l A IR P

el -1 et -1

(FHiTeRE @ yonr) (Fermsmn)

4. s g I. ot w 2

B. srerm 1. sivtr - sttfivas
iy — i, steserser
Dyt IV. o7l - arres

ot i o et & 2 =5t awz g ©

[Question ID = 2760][Question Description = $2_qSNz_PG_GP38_Q35]
1. A-l,B-ll,C-Nl,D-IV

[Option ID = 11037]
2. A-ll,B-l,C-1,D-IV

[Option ID = 11038]
3. A0, B, C-l,D-IV

[Option ID = 11039]
4. A-IV,B-N1,C-1,D-I

[Option 1D = 11040]

31) India’s national-level forest policy dates back to :
a1z o5t wredier Fae &t gor ofifer w1 frfer Brerfvor avg o1 37

[Question ID = 2761][Question Description = 52_qSNz_PG_GP38_0Q36]
1. 1894

[Option ID = 11041]
2. 1952

[Option ID = 11042]
3. 1988

[Option 1D = 11043]
4. 1994

[Option ID = 11044]

32) Given below are two statements :

Statement I: Amorphous silicon is highly light absorbing material,
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Statement |I: Amorphous silicon is not suitable material for solar cell development due to its non-crystal properties
In light of the above statements, choose the correct answer from the options given below

ol <1 werer Ru a0 & |

were - | 1 aRpredi RBiftreia swa iz @ yorel saeilus AeE] E

werd - || @ aifepzeditr Biferoia sord 31z - [preo sl & ot iz Jd @& ot © e sugrs aee] i 8

IWRYTe Dol @ Alcla A, s 16w s1e fameul 3 3 wdl a7 I o6t Difare @

[Question ID = 2762][Question Description = $2_q5Nz_PG_GP38_Q37]
1. Both Statement | and Statement Il are true /=@ | iz |l &t 3 2

[Option ID = 11045]
2. Both Statement | and Statement [l are false/mem | Ar || Sl areea £

[Option ID = 11046]
3. Statement | is true but Statement Il is false/mew | 37 &, Frog @ud | oera 2

[Option ID = 11047]
4, Statement | is false but Statement Il is true/wem | sewa &, Fosg wem || awa &

[Option ID = 11048]

33) Which one of the following has, both positive and negative radiative forcing in the climate?
fBremfer¥aa 3 A wior A v @ srorary (aarsdc) A eencae Az Qrencaw Sl Idanelca e arn srar 3 ?

[Question ID = 2763][Question Description = $2_qSNz_PG_GP38_Q38]
1. CO; (Carbon dioxide)/ CO; (wrier =1 smarss)

[Option ID = 11049]
2. CH4 (Methane)/CH, (stérer)

[Option ID = 11050]
3. NO; {Nitrogen dioxide)/NQ; (smxiem =8 sifasms)

[Option ID = 11051]
4. 03 (Ozone)/0s (bsia)

[Option ID = 11052)]

34) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Lockdown in 2020 in India was imposed under the Disaster Management Act

Reason R: COVID 19 is the first pan-India biological disaster being handled under the Disaster Management Act
In light of the above statements, choose the correct answer from the options given below :

i) ot wed 8w a0 & © v afdrpera (Assertion A) @ ou # 3iiz o1 33 wrwt (Reason R) S wa 4 .

sifirperet (A) @ siea A 2020 Ji cifassisel smust Yaoe sitiore o siasia oemen orn an

@w1vl (R) : amuer yaaer affiormr o siveta Hredl smet arclt @ifas - 19 genr zigui s e 6t Sifaes amaer 2

IUATe Bl @ ACE #, R By famed # 3 718 saz o wre Hifsw |

[Question ID = 2764][Question Description = $2_q5Nz_PG_GP38_Q39]
1. Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) St i & Atz (R), (A) & 28 o= &

[Option ID = 11053]
2. Both A and R are true but R is MOT the correct explanation of A/ (A} sz (R) Sial 3w £ gz=gg (R), (A) o =t wemeem =i

[Option ID = 11054]
3. Ais true but R is false/(A) 37 &, oy (R) smra &

[Option ID = 11055]
4, Ais false but Ris true/(A) sera &, mog (R) wrr &

[Option ID = 11056]

35) The faintest detectable noise by a healthy human ear is of :
O 339 Aloid @5 ol @ aflviad Faz Oz o gl darell smars fedey 2Baa &6t 2t 2 7

[Question ID = 2765][Question Description = $2_qSNz_PG_GP38_Q40]
1. 0dB

[Option ID = 11057]
2. 1dB

[Option ID = 11058]
3. 10dB

[Option ID = 11059]
4. 20 dB

prepp
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[Option ID = 11060]

36) The time gap between two sessions of the Parliament should not exceed :
dac @ 3t gl @ 9 A seaad sad sl ot sten anfdv

[Question ID = 2766][Question Description = $2_qSNz_PG_GP38_Q41]
1. 3 months/3 #eticr

[Option ID = 11061]
2. 5 months/5 mer

[Option ID = 11062]
3. 6 months/6 #icr

[Option ID = 11063]
4. 12 months/ 12 o

[Option ID = 11064]

37) Uin AYUSH stands for :
g™ (v o g v v A U sigiee 2

[Question ID = 2767][Question Description = 52_q5Nz_PG_GP38_Q42]
1. Urban/srd=

[Option 1D = 11065)
2. Universal /gftredn

[Option ID = 11066]
3. University/ghmBE

[Option ID = 11067]
4, Unani/ygamst

[Option ID = 11068]

38) Inter University Board set up in 1928 to promote University activities by sharing information and co-operation in the
field of education, culture, sports and allied areas is now known as :

3ime - forafteEncr 91 @1 so01 1928 3 smerpRl wr= @ Az f3ien, dwmi, wa iz e 8 3 aeae gr1 Realkienor 6 sifefafen
Tl YIrleal gol 3d Kol o0 53 319 10521 ol 3 Soll SIell & 7

[Question ID = 2768][Question Description = $2_q5Nz_PG_GP38_Q43]
1. Association of Indian Universities /s Srafener Sa

[Option ID = 11069]
2. Central Board of Secondary Educators/«iy smeabine Ben o

[Option ID = 11070]
3. Central Advisory Board on Education /@i Ben momemr g

[Option ID = 11071]
4, University Grants Commission/Rrealemrr smem arie

[Option ID = 11072]

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Government is preparing high quality bilingual textbooks and teaching-learning material for science and
mathematics to enable students to think and speak about the two subjects in their home-language/mother tongue and in

English.
Reason R; Government should promote all regional languages

In light of the above statements, choose the most appropriate answer from the options given below :

i) ot werdt B a0 & ©  wep afdrpera (Assertion A) @ wu 9 3iiz o1 33 orwt (Reason R) v wa 4 &

sifirrerst (A) : s R 3ca samn acil frandt uiga geae sz e site =it & e fbiamr siffem sl ot e o 38 3 B e
feremel Sl fordi & an 3 el Fenefie smar / swysar siie 3is|Eh smar # Fw i dioe e B 355

@1l (R) : 7z ®F it Sifier smunalt o QYeanfaa owen iy
IRERD @Gl & e H, e Ry famedl 3 3 w1 a3 o amm Hifswe ;

[Question ID = 2769][Question Description = S2_qSNz_PG_GP38_Q44]
1. Both A and R are correct and R is the correct explanation of A/(A) sz {R) gl =2t £ afiz (R), (A) & =2t s &

[Option ID = 11073]
2. Both A and R are correct but R is NOT the correct explanation of A/ (A) 4= (R) 3= =8 £ weeg (R), (A) D =8 oo ot &

[Option ID = 11074]
3. Ais correct but R is not correct/{A) a8 & wimg (R) o =& 2
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[Option ID = 11075]
4. Ais not correct but R is correct/{A) =t 72 8 ureg (R) =2 2

[Option ID = 11076]

40) Given below are two statements :
Statement I: Values are an enduring belief about the way things should be done or about the ends we desire

Statement |l: The values we form are influenced by our circumstances families, friends, age, gender, environment,
tradition and culture

In light of the above statements, choose the most appropriate answer from the options given below :

oflY &Y weret e s1e &

averot - | 1 g sl o oA wa # R soon aifde sads afy 3 seran aifiva 32ewll @ an & v rarh w3

averor - || @ Brer gyl aor formior 5o et & sm® ofifraferd, ofvaEl, Bigl, s, Risr, auiaver, gdaw iz degfy 3 oofda g 3
Rl wuell @ sers A, ol Re oo Rroseal 3 31 w8 307 o armer Hife @

[Question ID = 2770][Question Description = 52_qSNz_PG_GP38_Q45]
1. Both Statement | and Statement [l are correct/mem | J || Sl =t &

[Option ID = 11077]
2. Both Statement | and Statement [l are incorrect/sam | 7 1| St siom £

[Option ID = 11078]
3. Statement | is correct but Statement Il is incorrect/wem | =t &, fveg weom || orwr &

[Option ID = 11079]
4. Statement | is incorrect but Statement |l is correct/mear1 | srem 8, Prog wemt || 3t

[Option ID = 11080]

Topic:- GP38_D3_SH2_SET2_C

1) Read the given passage and answer the following question.

There are thres main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those enormous creatures of the sea
which are the largest remaining animals in the world. Te protect the whale from the celd of the Arctic seas, nature has provided it with a thick covering of
fat called blubber. When the whale is killed, the blubber is stripped off and boiled down. It produces a great quantity of oil which can be made into food
for human consumption, A few other creatures yield ¢il, but none 3o much as the whale, The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Yegetable's oil has been known from antiquity. No household can get on without it, for it 15 used in cooking. Perfumes may be made from the oils of
certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another, But when the politician or the engineer refers te oil s/he almost always means
mineral oil, the oil that drives tanks, aereplanes and warships, moter-cars and diesel locomotives; the oil that is used to lubricate all kinds of machinery.
This is the oil that has changed the life of the common man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we
owe the existence of motor car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and afr. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and in some ways, it is superior to
coal in this respect. Many big ships now burn oil instead of coal, Because it burns brightly, it is used for illumination; countless homes are still illuminated
with oil-burning lamps. Because it is very slippery, it is used for lubrication,

=il 2 s1Enser 1 ulee AT A o1 Faz e

i1 @ o qHW AJ9F & See, duedld, i mha s 3 9 8 T O o S5 AR o2 3 g el ¥ 9 B g & Rena Hie & S R O Jeas 93 A6 91 91 59
R oot g o Al 3 s & grsn meat @ A gpft &t 53 awl oft ool acht @ 3 5 g o gord o s o et §, o gl ot e 33 sam
& & U5 oOd B T AR ) R il & R are Jaiet 95 R mrer uerl 99Rn 5o wedl 3 0 o giRE 3 O e | 3 affea sda O Finren Reslt o | et
or B ek Wt sraper i Seflae weasa frar S el Sty armr 0 AT ot By o Bl Rredisr St sraswasm 8l A, aerest By st B

osrrafil Aer oy an # gels e 3t oneeerfl et srewe o swel B amer st aemn; vaftoe B 59 siisrer sy 31 g e wen § o e fafte el & Preodt
1T et 3 @0 B AAwT ¥ ATge dorrar i e @ S0 A aeny @

g e el o R, da @ o GoE @ @ S8 Hecagyl 3w  ARSH o ToRiaT e SeilRer Roelt da & dd wmd & o o sl aread sifder de 3 Jar
% ; oz Ao s By Fool, sond srersl oy wp il oy o sy See aretifRe o weofir oy B gz de s welt gty Ot moltel o Ry wiwes o oY oF oEs B § o uw
Pt oA 2ol o Sfiae o ana B E o 591 O @ s A abionRo v s & 73 s9e @ aeniin ooe O e A O o s s R Alcror © glor O
gifsaett 2, et 951 3 9 9l Tererdl deRr © girafa s i sad R aHiagieeit | s em, gt i s Te TR g D adsl Sl aea R & =1
gz i A Sl W St 3 Broner swo o owiis ap aedt meE ofd gn &, abiny e gEier Sae o v A Een E o 5ot aee # 5wl A aE wEe 3 A5 A A0
& dgd 3 92 Aar A W O oete O i S o i av oo 3t SR B it W aasere ikl 3 s £, e gEeel ot o fome aandier dar 3 arorfitera w3 ansdt oft O
2 sror ey Fo 3 Docht g et ¥ awiifts we siftres Rsaom aren B, safi sawn yueis Sige @ 59 3 g §

Yegetable oil is/was :
amrraft Ao & a0y a9

[Question ID = 2771][Question Description = 52_qSNz_PG_GP38_Q46]
1. Known to people since ages/=i=il @ 770 A wa £

[Option ID = 11081]
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| 2. Unknown in ancient times/quiter asmer 3 arsie o

[Option ID = 11082]
3. Known only in the old days/ @ yreie 79w # & wr en

[Option ID = 11083]
4. Known only to old pecple/am gue! &weil =1 & aor 2

[Option ID = 11084]

2) Read the given passage and answer the following question,

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one Kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.

ol By wrerigr w61 afye iy qea o vas S

et B ol YAz I9E & - aloiae, aorsuld, 37 wfomr el 3 gid giel arcl dd bl a3t AR odc A g aldl & sit [ s9g @ feme sila & =i
fra o> a3 93 AN dicl S gY Silolas 8 sidied 3pg o1 Afdal A gaor ot FEan ®Ior @ fore yoia of 231 ozl o Sl arcdl azr A 5 ge
U3 Yool Roar & o/ oda A3l 8, a9 el ! orpiorss 33 391 od & ag dd &l a3 AR @1 Icdod Xl & BRI ARM 3uses @ R @mEr
ucrel GoIR o RpAal & o Jed QIR 3 da foreon airan & cifed <2a @ foron el soa A odl gy @ ®is @1 T A1 Edllae a@a
da e gl dliz woa gAY Al o By oo Bifta RaBer & sraeaom 2kl 3, saot Ry o 3

goryaftr da @ ai & qrlla wa A serod 3 e ssrya o s Ron o aidl acaan; safee 5§33 sise gerer A gars e sar §
URRH oo il well 3 fordicl a1w «Icl A =l 2l ADd 2 Algal detzulel 302 SlordRl @ el 3 Tolle ik &

U AT Al & [R1e, da & o YoR g3t @ W Accayyl &1 Ao & dikbol aia Istoldl Jerdr eilforas el et 3 Fide 7@a & dl Jamn
aftrestora: areof wfsrer et 3 3l B | ae O ot fb Tl aar seel AT g ulal, A ori aii Sea detafea ol Fafera s 3 as aa
St w3t o1z &t Al @ Riv soew © dir 9z o M E  u9g dd Brera s sngedt © sliaa ot soa Rar 2 =@ 391 Ula @ wa i afweni?a
fepa e 3 o 33 S9lo1 @ Aedi¥e <asl @ Aol A YIeb Ko Sk 2 s e diczen & Bkl @ gieneil 2, ol 8igh A o SRl sierared
arsenst o gftrenfta o B sadd fre ssell & gitceofl 8 saor raa, wag i ag 3 a2 w06l adl g @ adat o) goa B ¥ va gor
Dl el Sldilal @ ol A forolen Al 8 a<ilics @18 A=l 126 Sool BIdl 8, 33IeIe 3AmI YISl $eld © U i Gidl & A1z 2rbl aulg 3 33 el o
e BRI A S AG IR 2 aga 3 g2 Sl 3d BRI Bl oPle Od ©) a6 & diz i Iwipl F AAE  a=iifes a8 auascrr aiid 3 arar 2,
5 YD1Vl 3ol @ 1T Iu=ieT Giar & seifetent @t & spll off Srar 31 srorel o A A Aerd gr axdl £ il a6 affre fssoa aen 3, saiie
TI] IWA IoIa o HU W ERIT 8

According to the author, whales are;
Sy T T, SR B

[Question ID = 2772][Question Description = $2_qSNz_PG_GP38_Q47]
1. The largest animals that have ever lived in the world/smA st e S e F s ot o 8

[Option ID = 11085]
2. The largest animal living in contemporary times/ mrprde w9 # iR Tu3 ot oo

[Option ID = 11086]
3. The largest reptile /==l == 33taa

[Option ID = 11087]
4. The largest animal living in Caspian Sea/dhume apr # Sifn 73 o s

[Option ID = 11088]

3) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world, To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield ¢il, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.
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Vegetable's oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers, Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another, But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth, Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.

ofte o sremian ot ulgs Ji gt o Tz Sk |

a1 @ el gi= Hygg € : Siolaz, aorrald, iz mioral sierasl 31 gu Sl ard dor ot adt Al o A qry exil & S fo g @ faene Sifa & s
forq o5 el 93 0PI dicl 9 gU Sliold? & Sipiew weg Ol AlGal A sad &I Iz weel @ fore gepl of 331 awsdl wdl stel arcdt a=n 3 ed gu
U Yol [oar o oddl aAxdl &, 7| Tl B forbieim: 33 Jdiel &4 & U6 ddol Dl <31 A D1 ool il & 511 #lold 3uslsr @ fre mrer
aoref ot S T 3 aye arsw Rl A da B st ¥ Aftver @da © Braon Rl st A @l g St @S wr aap iz 3eflac aaya
i1 ez sl 3iT aow g3i el @) free o fifua Rreber & s 2kl 8, o) Re @ &

Jorzufa ot @& an # yriicl ®a 2 amererdl & [Reell 3fezer @l 5o Kion @@ ol aaar; safktw s 331 sl aetrel d gyes [een o 8
ORI B forftaa gal 3 forord 318 (T A 9ol &Y Adma € HIgol doizule 3T SemEnt o dd 3 Jele ST 8

ey FTENROT MG @ R, fa @ v goor oA @ A ascagef & awd ¥ Afdver st ek sieran Ssfiferae Roelt da & wwer @ma 3 ot soret
stf¢repior: arusi mierst dd A 3iar 8 ; 96 od 51 kb &ol, a8 swEl e g didl, die: @RI iz Stee dikpldlica @1 dwdicn o 3; a8 ad
it 3l geprz &1 Feficll & e Fole® @ diz T b & 2 A8 o il I ancail @ Siiae @ goa R € 59 33 Ugia @ »u 3 afyenfia
fopenr smen 3 or 3 So161 O sionlYes gEer W Hcrerer A ORper fawn suar B swa Rie sy @ a9 © gitceolt 3, Bl aist J 9 SRl srorned
AsPEIE B gfirenfia o B sud R ssel ® gRemit S sua ver, awg di arg 3 o S il g & askol @) aca R @ sa yor
avr o1 seltar o ofi A forren st 8 4R a1 sredl eE gear A 8, saftte sEost griler fuar & Ba H Sen i sl asie A v ves #
G WRICT A AG0E A SIKI & a5 A 93 SI6El 36 DI I SPIs AT Wl $206 O diz U2 3Wwel 4 ad 2 awifRe a5 amper adikd A e 3,
AT YbI9l ol @ 10 IURIST SR & Aaifdent w3t 3 anft ot Aa A Saor a1 du 3 Noed gm 2t 2 oeiifs a2 aftis fivaae aren 2, Tafog
THET INAET ¥aew B Hq i fiar B

Which one of the following is NOT one of the three main purposes for which mineral oil is used?
ferraifeifian 3 wiol a1 v ol FEea I2edl 9 A oidl 3 B fere st e wr su=ns1 Rear s § ?

[Question ID = 2773][Question Description = $2_qSNz_PG_GP38_Q48]
1. For lighting/ i @ e

[Option ID = 11089]

2. As fuel for motors/ales & fow $umas =q 3
[Option ID = 11090]

3. As an economic power/sofdfos offr © =a &

[Option ID = 11091]
4, As lubricant/>Es &30 ¥

[Option ID = 11092]

4) Read the given passage and answer the following question,

There are three main groups of oils: animal, vegetable, and mineral, Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity., No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one Kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery, This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect, Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.

Sl By wrerigr et afye siir qea o vas S
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aza gora fvar & sig @&a Al 3, ag gl o B 33 soa 30 § g da B aft aep i sogser wxl § B mera smier @ e wmne
ucrel 9olRI o PRpAI 2 B0 3ed YIURIIL A o ol Jrdr g cildod oa @ fordon izl sca 3 oidl g 3ell ®is @1 ame A1z Edlac o
a1 doe Al iz soa gAY ARl o Bl oo Biffa RaBer & sraeaaom 2kl 3, sarot Ry o 3

gorrafer da @ ai & qrllor wa A seod 3 e ssra o o Ron o aidl aaan; safee 5§38 sise gerer A gars e sar §
R __ e it wrl 3 e o1 a3 @0 8l 3W6d 8 JIge Joiui AR SIorR O o 3 96me SIe &

=P LRV G & R1e, A ® 6 YR g3 @ S #Ascayul 81 b & oikbol S/ IShidl el ssiiferr Reedl da 3 s 7@ma § d et
aferepiore: areazt FforeT deT 3 Bl B ; a8 Od ot b ¢opl, sar Slersl Al g uldl, #Hie: SR i oo aietiea @1 dafera o 8; ag aa
St w13t gro1e bt Al @ Riv 3o © dir Uz o M E U6 ad Brea ana gl @ shiae ot soa Bar 2 =@ 331 Ugla @ wa i afweni?a
T =Irelr & | 33 $alol @ 3lovilids cael & Hdiclel A YIrP Kbar oIntl 2 sa@ fo1w Alcrpz @ dld @ gliespuil 8, frera Jisi 31 of arll aelardt
arsrenst o gftrrenftea o B sadd fre ssel & gitceofl ¥ sa6t raa, wag iy ag 3 a2 sl adl g @ adal o) aoa o ¥ va gor
I <icI Sidilel O ol 3 forpren aIrtl 8 o=iilp e el w136 el Blal &, AT $3ml JRPI $e0a © BU A sl & iz serbl aae A 33 dHef o
e BRI A AT A IR 2 aga A g2 Sl 3d BRI Bl oele Od ©Y 6 & diz oz Jwel F AAE aeiifes a8 auaser witd 3 s 2,
A5 YEpI9l ol @ 1T Iu=ileT Siar & seifrent @l & sl off Srer 31 srorel ama A A Jderd gr il £ iRy @ affre fssoa aen 3, saiie
W] FUHAIPT Foie  HU & eNII &

"Mo household can get on without vegetable oil, for it is used in cooking”, means:
"fepil aETer @1 aaTuli el & [l SR orél acar TRiifes 3T YRR siisiol Jotlol 3 Bl 8" $3T awast 2 :

[Question ID = 2774][Question Description = $2_qSNz_PG_GP38_Q49]
1. Households and vegetables oil cannot get on with each other /sEwe iy serafer T s oAl & =0 widl o Jew

[Option ID = 11093]
2. Households can manage without oil/seser clell @ we Ko 96 o a0 JFawT 8

[Option ID = 11094]
3. Oil is an essential ingredient in cooking, so households need it /ey Aiewr Ao # sawEs Ao & safen JE=el =1 3! anaeaesar ard 8

[Option ID = 11095]
4. Households can get on with cooking without vegetable il ferzza Rien wersal O am Hiem @ e 25 I &

[Option ID = 11096]

%) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world, To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers, Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another, But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air, This kind of oil comes out of the earth, Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication,

ofte oy srgian ot ulgs Jfi gt o Tz Sk |
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forq o5 HER] 93 3R dicl 9 gU Sliold? & SIpiew Heg Ol AlGal A sad &I Fzen wel @ fore yepl of 331 awsdl wdl siel arcdt a=n 3 ed gu
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Qil-burning lamps:
aa A sroe! Ay & ;

[Question ID = 2775][Question Description = 52_qSNz_PG_GP38_Q50]
1. Are used in more and more homes nowadays/ il affr A ol dggr da 2

[Option ID = 11097]
2. Are not used at all/am ggrs &l 2o &

[Option ID = 11098]
3. Burn more brightly than any other kind of lamp/ s woe o du 3 JfFr 9ewor i & o 2

[Option ID = 11099]
4. Are used by a large number of people, although not so many as previously/ a1t ie=n 3 FEll g1 GIRE a0 &, J=i 9eot & Hien A w16l 39=is1 3+ &

[Option ID = 11100]

Topic:- Telugu_Set2_A

1) e20dE grar Depardd dardroeh[Question ID = 3076][Question Description = 52_qSNz_PG_TEL_QO01]
w50 e [Option 1D = 12301]

3¢5 [Option 1D = 12302]

&y, [Option ID = 12303]

%56 [Option ID = 12304]

o 2

2) D& > O riEd Boded?[Question ID = 3077][Question Description = $2_qSNz_PG_TEL_Q02]
xi0foy, o [Option 1D = 12305]

o5 [Option ID = 12306]

255 [Option ID = 12307]

s [Option 1D = 12308]

oW

3) & _ &' o dody edy Hde[Question ID = 3078][Question Description = 52_q5Nz_PG_TEL_Q03]
TR e 2icte [Option ID = 12309]

eroarg Hoo [Option 1D = 12310]

gy Beso [Option ID = 12311]

=as o [Option ID = 12312]

a2

4) a;azdww w88 Sgo[Question ID = 3079][Question Description = 52_qSNz_PG_TEL_Q04]
wodindye [Option ID = 12313]

TresnGye [Option ID = 12314]

gotisardai wytyo [Option ID = 12315]

Sordady Dytyo [Option (D = 12316]

O

5) srudiEdn daahed® PRISH Lrar S ons g

[Question ID = 3080][Question Description = 52_qSNz_PG_TEL_QO05]
Zowcdrde [Option 1D = 12317]

Siwe [Option ID = 12318]

gan o [Option 1D = 12319]

Senrty [Option 1D = 12320]

oWk b o

6) Beotd Jofs $8) PH0 DD oY

[Question ID = 3081][Question Description = $2_qSNz_PG_TEL_QO06]
1. D&y bady [Option ID = 12321]

2. DaoSod HYITDTBNE [Option ID = 12322]

3. Qewdrd Toeaie Tl [Option 10 = 12323]

4, rioth &8 Fdocira [Option 1D = 12324]

7) amdy TRhdde cﬁ;,%é‘ ' &, &w, &, w[Question ID = 3082][Question Description = $2_qSNz_PG_TEL_QO07]
Bori &' patgairen [Option ID = 12326]

faesardess aasosrws [Option (D = 12327]

SEE HEtairen [Option ID = 12328]

08 pjoiren [Option D = 12325]

o R
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[Question ID = 3083][Question Description = 52_q5Nz_PG_TEL_QO08]
1. &. 2%. g [Option ID = 12329]
2. 96 o g% g [Option ID = 12330]
3. %goreg wfy [Option 1D = 12331]
4. coth &4 Tocdr [Option 1D = 12332]

9) gv ir8okod’ R Srdyods & ddad
[Question ID = 3084][Question Description = $2_qSNz_PG_TEL_Q09]
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srceaxtedy [Option 1D = 12333]
sty [Option 1D = 12334]
2068 Sogseoes [Option 1D = 12335)
ey aotoc [Option 1D = 12336]

a2

10) 76 gy SyEedo M oD sus[Question ID = 3085][Question Description = S2_qSNz_PG_TEL_Q10]
Hdowodio [Option 1D = 12337]

TS wea [Option ID = 12338]

Byorrd Dfse [Option 1D = 12339]

g Derzo [Option 1D = 12340]

T

11) "H8o arde dran” ol HH mrodd $D[Question ID = 3086][Question Description = 52_qgSNz_PG_TEL_Q11]
Tred 50 [Option ID = 12341]

Srey 68 F%0 [Option ID = 12342]

srorosae ity [Option 1D = 12343]

o Tres Srdgaaciy [Option ID = 12344)

oLk B2

12) 208D Flodi 58D 588w 0y 8D

[Question ID = 3087][Question Description = 52_qSNz_PG_TEL_Q12]
1. ddumrs mrodagbety [Option 1D = 12345]

2. Jecdy opna eodssaciy [Option 1D = 12346]

3. s;ig &8 [Option ID = 12347]

4, dadugrd Sogt 82 [Option ID = 12348)

13) “;'mabb o 5‘&?&506’ PHFDYoB D" - 0 IPERY ddans

[Question ID = 3088][Question Description = 52_qg5Nz_PG_TEL_Q13]
1. % 5 [Option ID = 12349]

2. 6Dz [Option ID = 12350]

3. orriod T¥ucdrarew [Option D = 12351]

4, SE3SH8 Loy [Option ID = 12352]

14) Beord® densdd 2ootdweed ggr Hrd8[Question ID = 3089][Question Description = 52_qS5Nz_PG_TEL_Q14]
Séhord gesen [Option 1D = 12353

oo ggew [Option 1D = 12354

eaotrad goen [Option 1D = 12355]

et e gdwo [Option 1D = 12356]

oW R
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[Question ID = 3090][Question Description = $2_qSNz_PG_TEL_Q15]
1. S Sodbegymory [Option ID = 12357]

2. modoed orovcy esoro [Option ID = 12358]

3. wwdods desnd orer [Option (D = 12359]

4. gototrd DEdonic [Option 1D = 12360]

16) Seoidd’ BoBuatn crdgs TLEaD DD T

[Question ID = 3091][Question Description = $2_qSNz_PG_TEL_Q16]
1. &6)860 gparstyges [Option ID = 12361]

2. docidrd DB#dotio [Option ID = 12362]

3. odere orrodsd Ty [Option D = 12363]

4. Eorooo 2DoraTedy [Option ID = 12364]

17) dorgon Srdd 8680 D8RR Py dy wrdde HaFeHe[Question ID = 3092][Question Description = 52_qSNz_PG_TEL_Q17]
b, A2, erh [Option ID = 12365]

TS rH [Option 1D = 12366]

8. 2. eSS [Option 1D = 12367]

w0d dotth [Option 1D = 12368]

T

18) i TR0 erdorr dor Aairoie HHIDDR ardbe HOFEHw[Question ID = 3093][Question Description =
§2_qSNz_PG_TEL_Q18]

DoeH® Stvacss [Option 1D = 12369]

coriof Judy, [Option ID = 12370]

o0 haves [Option ID = 12371]

S &g [Option ID = 12372

P

19) Darpdeno 2er DBJWE'D wdard 3o Hysge.[Question ID = 3094][Question Description = $2_qSNz_PG_TEL_Q19]
Boasars Jyoge [Option ID = 12373]

Goar Aydste [Option ID = 12374]

taisoyerea [Option ID = 12375]

(Tetarth dydhio [Option 1D = 12376]
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[Question ID = 3095][Question Description = 52_g5Nz_PG_TEL_Q20]
1. ¢ [Option ID = 12377]

2. dogisras [Option ID = 12378]

3. w5 [Option |D = 12379]

4. &= [Option ID = 12380]

21) sdd'ardn Do Foisto GDoBD) A1y Gl D $8;008 ov

[Question ID = 3096][Question Description = $2_qSNz_PG_TEL_Q21]
orasioey Traudesy 56 [Option ID = 12381]

geunoed) TranBorrdd [Option 1D = 12387]

ores Do ot 5 [Option ID = 12383]

m%fa% e mrera teayy [Option (D = 12384]

oW =

22) &0 amﬁamg 56&;&.&:‘?3 ﬂﬁaﬁaﬁahé’ gDer B8 eodddorr Gotota) ﬁ%& erdedthedd

[Question ID = 3097][Question Description = $2_qSNz_PG_TEL_Q22]
Zigy FJraocis [Option 1D = 12385]

gity mroraiueacty [Option 1D = 12386]

a6y S'gtoch [Option ID = 12387)

26 ergaac> [Option ID = 12388]

a2

23) " A8 Trendid dudn 3w wﬁmégoé‘ﬁ wr;csgo[o_uestion ID = 3098][Question Description = 52_qSNz_PG_TEL_Q23]
oo a3 ego [Option ID = 12389]

Teo 08 oo [Option 1D = 12390]

Rac3rto By wifo [Option 1D = 12391]

D00 e eto [Option ID = 12392]

T

24) rodége, HBR0D, DI Hotd LENE LLAFTD Sher Siwo Jad adutied Dy Shard.

[Question ID = 3099][Question Description = 52_qSNz_PG_TEL_Q24]
1. wd@dog Dandyss [Option 1D = 12393]

2, FoBdg Dosysic [Option ID = 12394])

3. Aoy Dy [Option ID = 12395]

4, wios Davdyds [Option ID = 12396)

25) antry e Dodt TraboTed Horuirds e b

[Question ID = 3100][Question Description = 52_qSNz_PG_TEL_Q25]
syoiars w8 [Option 1D = 12397]

gdore wird [Option 1D = 12398]

esyd 8 [Option ID = 12399]

o) wirs [Option 1D = 12400]

B R L

26) VsroddS wdE >doud aold drdg Heo[Question ID = 3101][Question Description = $2_qSNz_PG_TEL_Q26]
greeo [Option 1D = 12401]

aryadrrio [Option ID = 12402]

288 [Option ID = 12403]

&iF 3oyt [Option 1D = 12404]

o R

27) TPOBCT s g?o% Bodd Dody),e £

[Question ID = 3102][Question Description = 52_q5Nz_PG_TEL_Q27]
w90 [Option ID = 12405]

ot [Option 1D = 12406]

ars® [Option 1D = 12407]

Ardooca [Option ID = 12408]

B 2

28) weosdthich,regdd esandord

[Question ID = 3103][Question Description = 52_qSNz_PG_TEL_Q28]
1. ==9oao [Option ID = 12409]

2. a@yRc [Option 1D = 12410]

3. oadathcn [Option ID = 12411)

4. §¥rdych [Option ID = 12412]

29) Ariraged PHBHr RRwE ddatrorl) DELDY oo
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[Question ID = 3104][Question Description = 52_qSNz_PG_TEL_Q29]
ERAE [Option ID = 12413]

Lerd Gciogay awo [Option 1D = 12414]

Bog wRd [Option 1D = 12415]

FoR0R Trideds [Option ID = 12416]

oL B

30) Roers S raed J DS FGE™D DD LTS TES WotHd Hydgow

[Question ID = 3105][Question Description = $2_qSNz_PG_TEL_Q30]
Fod, [Option D = 12417]

28¢ [Option ID = 12418]

Docky [Option 1D = 12419]

Featyy [Option 1D = 12420]

bl D

31) ewdodiwre Sud Hrd G Dodd BN PotRDEONT JdnGE DEJ D

[Question ID = 3106][Question Description = 52_q5Nz_PG_TEL_Q31]
orud d,® [Option D = 12421]

Erere Ryl S [Option 1D = 12422]

dae WL [Option ID = 12423]

B0 2y, & [Option 1D = 12424]

R

32) rendd Lads FdD svo[Question ID = 3107][Question Description = §2_gqSNz_PG_TEL_Q32]
A% Dte [Option ID = 12425]

arcoron tnde [Option D = 12426]

Aeiow tte [Option ID = 12427]

Aanciorte Dnde [Option D = 12428]

P

33) Both,renth rorud’ drgdy abate ddge[Question ID = 3108][Question Description = $2_qSNz_PG_TEL_Q33]
1. estded [Option ID = 12429]

2. Lo [Option 1D = 12430]

3. gocs:an [Option 1D = 12431]

4, Sewha [Option 1D = 12432]

34) " Artbdod) s SIHUD Srrerdage'
& aﬂsﬁaé“ e BeOos o

[Question ID = 3109][Question Description = $2_qSNz_PG_TEL_Q34]
Syapedo [Option 1D = 12433]

Deicyde [Option ID = 12434]

RITPOSIRTIR0 [Option D = 12435]

drago [Option ID = 12436]

B R L ]

35) &, 386 Sgroddoendd
S*Hoen HORRVAD LD ADDID Lath
[~
8 Soben dHauedd
EPE GO CINBILR Gl M BNAD o
Sesied™

[Question ID = 3110][Question Description = 52_g5Nz_PG_TEL_Q35]
Hookosr46 o [Option 1D = 12437]

¢es % [Option ID = 12438]

obties = [Option 1D = 12439]

Docingr hooiwerid &b [Option 1D = 12440]

oW R

36) aps)Bdiry vl Hod

[Question ID = 3111][Question Description = 52_qg5Nz_PG_TEL_Q36]
FrBERHGa GG BERSSsa0 [Option 1D = 12441]

25885°gs daben [Option 1D = 12442]

1.5:585‘, gaben [Option 1D = 12443]

Bedyehosiordothdy xﬁmvcﬁé ggumw [Cption (D = 12444]

P

37) ' 203 ' 0g8 Fbodd Doy

[Question ID = 3112][Question Description = $2_qSNz_PG_TEL_Q37]
2y kg oSy [Option 1D = 12445]

esay ariray Honwy [Aption ID = 12446]

wz_dalc]csoﬁ} gusawse Reave [Option (D = 12447)

. 84,4 Saxratrog grar Dwabe [Option ID = 12448]

o =

38) ﬁuébaomﬁ TRV wofEdedd ' Doordndd | & HEGAS ow[Question ID = 3113][Question Description =
$2_qSNz_PG_TEL_Q38]

prepp
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ardere oraodar 7wy [Option 1D = 12449]
patidB ©8) domdo [Option ID = 12450]
B Go widowe sroogen [Option ID = 12451]
Dexxg vy subozre [Option D = 12452]

a2

39) " esogh Srirdy DB #0887 Jpyh ABTod?

[Question ID = 3114][Question Description = 52_qSNz_PG_TEL_Q39]
1, 1913 [Option 1D = 12453]
2. 1920 [Option ID = 12454]
3. 1925 [Option 1D = 12455]
4. 1934 [Option ID = 12456]

40) How T-IrALEED) BLHE’S ANEL BVDGEND T

[Question ID = 3115][Question Description = $2_qSNz_PG_TEL_Q40]
pdoniy gordwen 8¢ [Option 1D = 12457)

eRTEEyy 30y, [Option 1D = 12458]

S00CATS afiamy ¢ o [Option 1D = 12459]

SRS Jdoard ol [Option ID = 12460]

e it R

41) 208 ;8S A0S P olrrew DO ?
A. BB

B. Jroiy, 88 oo

C. oxvair Sqadren

D. 38,5 e, oo

[Question ID = 3116][Question Description = 52_qg5Nz_PG_TEL_Q41]
1. A,B arga [Option ID = 12461]
2. B,C g [Option ID = 12462]
3. B,D srado [Option 1D = 12463]
4. D,A 3wgde [Option 1D = 12464]

42) 300 OE Grog pojoiresy Hordd?,
A, doa

B. 52

C. doaao

D. esrf80

[Question ID = 3117][Question Description = $2_qSNz_PG_TEL_Q42]
D,B arado [Option 1D = 12465]
A.B aregsdo [Option 1D = 12466]
B,C sorgdy [Option ID = 12467]
C,D oS0 [Option 1D = 12468]

oW =

43) wrbs 1 wdvoiroions
A, 0§

B, &8%

.86 3%

D. 86

[Question ID = 3118][Question Description = 52_qSNz_PG_TEL_Q43]
1, A,C 3253 [Option 1D = 12469]

2. B,D soada [Option 1D = 12470]

3. D,A sredo [Option 1D = 12471]

4. C,B armgdo [Option ID = 12472]

44) &) HOIYBED YD LY

Ag ey

B. oty g

C. ag od

D. Sgtodo

[Question ID = 3119][Question Description = $2_qSNz_PG_TEL_Q44]

prepp
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A,B sogsda [Option 1D = 12473]
B,C awendo [Option ID = 12474]
A,C Borgdo [Option 1D = 12475]
A,D sorggado [Option ID = 12476]

a2

45) B’ $0% HRADD AP DI
A. S35

B. Db

C. 2 rddn

D. b&w

[Question ID = 3120][Question Description = 52_qSNz_PG_TEL_Q45]
1. A,B Arads [Option 1D = 12477]

2. B,C soads [Option 1D = 12478]

3. A,C a»gdo [Option 1D = 12479]

4, A,D srgds [Option 1D = 12480]

46) wriys LN T TN o GG Srottde Godd SapHew

A. ;’n:-#éz, PR

B. erabserddfs

C. 2 e

D. Hhars HESans

[Question ID = 3121][Question Description = $2_qSNz_PG_TEL_Q46]
1. A,B gy [Option ID = 12481]

2. B,C Jrgdy [Option 1D = 12482]

3. A,C Srady [Option 1D = 12483]

4, B,D &g [Option 1D = 12484]

47) SoEs o.m%os‘ Dty DAY D JFgEro

A, DS gETo

B. sugogroro

C. sddgriiro

D. e8SoTOPpEre

[Question ID = 3122][Question Description = 52_qg5Nz_PG_TEL_Q47]
1. A,B argds [Option ID = 12485]
2. B,C e [Option ID = 12486]
3. A,D argd [Option 1D = 12487]
4. C,D Aras> [Option 1D = 12488]

48) Seorid Dewddd dyab Sdgen
A, orexr- TPen

B. 3% &%

C. wdoth cirdo

D. &= orirase

[Question ID = 3123][Question Description = $2_qSNz_PG_TEL_Q48]
1. A,D Srgds [Option 1D = 12489]
2. C,B arado [Option ID = 12490]
3. A,B arado [Option ID = 12491]
4. B,D smgdo [Option 1D = 12492)

49) e H6H a’:g@é‘ PGS Senih Hdo
A. 65dd

B. S0 I

C.>rd e

D. Do gveged

[Question ID = 3124][Question Description = 52_qSNz_PG_TEL_Q49]
1. A,C arady [Option 1D = 12493]
2. B,D soada [Option 1D = 12494]
3. A,B Soada [Option 1D = 12495]
4, C,D s»gds [Option 1D = 12496]
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50) BWIyEEveD SOPH Tegorr DD T
A. Doz Hidoen

B. 8:p008 £33 T3

C. rootiodd o) B2t T

D. fogeard gord

[Question ID = 3125][Question Description = 52_qgS5Nz_PG_TEL_Q50]
1. A,B g [Option ID = 12497]
2. B,C soeg [Option ID = 12498]
3. C,D axsds [Option 1D = 12499]
4. A,D a»ss [Option 1D = 12500]

51) Bothy g Hyoegen
A, 620y S50

B. axdogan) Hyége

C. are dothed

D. Dot Byisgo

[Question ID = 3126][Question Description = $2_qSNz_PG_TEL_Q51]
1. A,C drgdo [Option 1D = 12501]
2. B,D areado [Option ID = 12502]
3. C,B #rgds [Option ID = 12503]
4. C,D argdo [Option 1D = 12504]

52) ®dorqon Drod) edsciraiven
A, drdte Do

B. oo

G L0 B Dot

D. & ﬁ%

[Question ID = 3127][Question Description = 52_qSNz_PG_TEL_Q52]
. C,B aorady [Option 1D = 12505]
A,B s3ad [Option 1D = 12506]
A,C Sorgdo [Option 1D = 12507]
. C,D Srade [Option 1D = 12508]

o B

53) orggne Siren
Ao aiogsn

B. 3@25:‘ng

C. ofdg50

D. eegciHadown

[Question ID = 3128][Question Description = $2_qSNz_PG_TEL_Qb53]
A,B B33y [Option 1D = 12509]
A,C Egds [Option 10 = 12510]
. C,D Smids [Option 10 = 12511]
B,D &oraids [Option 1D = 12512]

e it R

54) 37) 8 ooy Tha) DG foGren.
A Sodo Sty 8¢ doe DB0GHD0

B.2oi0 310 DButyTrids Hotsiw
C.208) Sk HoIY
D. 3% 208 gwg

[Question ID = 3129][Question Description = $2_qSNz_PG_TEL_Q54]
1. A,B argdo [Option 1D = 12513]
2. B,C arado [Option ID = 12514]
3. A,C srgdo [Option 1D = 12515]
4. C,D aras [Option 1D = 12516]

33) grimmros HBYY drde Sothd
A.esﬁeatgsﬂw

B.drg gomren
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C.addndsen
D. Sz agen

[Question ID = 3130][Question Description = §2_qg5Nz_PG_TEL_Q55]
1. A,B g [Option ID = 12517]
2. B,D soeg [Option ID = 12518]
3. B,C &rado [Option 1D = 12519]
4, A,C amsd [Option 1D = 12520]

56) ewscsfedd dgods oo
A. &0 B¢

B. 283740

C o2 oot Hidoen

D.eoyoihy Sddoen

[Question ID = 3131][Question Description = 52_qSNz_PG_TEL_Q56]
1. A.B #rads [Option 1D = 12521]

2. B,C arads [Option ID = 12522]

3, B,D e [Option ID = 12523]

4, A,D Sorad [Option 1D = 12524]

57) JEHrHBO50SE Dowodoldd SPew o (Joiren
A 2005 o 8ov8

B. #geas m‘s@o?ﬁ

C. Dods ot By Gewoto

D. DoTrerhso

[Question ID = 3132][Question Description = $2_qSNz_PG_TEL_Q57]
1. A,B s#»gds [Option ID = 12525]
2. A,C Sxady [Option 1D = 12526]
3. B,C Suady [Option D = 12527]
4. A,D Zoegdy [Option 1D = 12528]

58) YdIscved® Dadhpes AaLErId ed@ried Hode
A0

B.&6s
C. moﬂatgﬁ
D.crdd

[Question ID = 3133][Question Description = 52_qSNz_PG_TEL_Q58]
1. A,B arads [Option ID = 12529]

2. C,D argds [Option 1D = 12530]

3. B,C awrado [Option ID = 12531]

4. A,D SrgSs [Option 1D = 12532]

59) DHaoyen dfoitto Foo A &rved’ @iy Trrw

A ethdden

B.Zwosren

C. gaen

D. &yosren

[Question ID = 3134][Question Description = $2_qSNz_PG_TEL_Q59]
1. A,B S50 [Option 1D = 12533]
2. B,D Argds [Option 1D = 12534]
3. A,C a»gdo [Option 1D = 12535]
4, B,C s [Option 1D = 12536]
60) cﬂngduﬁué‘ TeHy SIS DN HdIVL Dotdd
A.pdien
B.&romdhen
C.eo8¢5en
[=]
D. Rerdgsmn

[Question ID = 3135][Question Description = 52_qg5Nz_PG_TEL_Q60]
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A,D s3ogds [Option 1D = 12537]
A,B Aredo [Option 1D = 12538]
B,D awedo [Option ID = 12539]
B,C awredo [Option 1D = 12540]

a2

61) RdrDed od e abhd Tokitrdw
A. 2% geolioew

B. J¢ abgwen

C. vfe FHidwe

D -REE ) Swen

[Question ID = 3136][Question Description = 52_qSNz_PG_TEL_Q61]
B,C sSogdy [Option 1D = 12541]
C,D soada [Option 1D = 12542]
A,B Soada [Option 1D = 12543]
B,D soeeida [Option 1D = 12544]

R

62) Jrdy vLre o Dot D) veosTow
A, &daF

B.Eﬂc"\&c‘ﬁsﬂan

C. hdé}&o

D. tﬁg%ﬂéo

[Question ID = 3137][Question Description = $2_qSNz_PG_TEL_Qé62]
C,D &gy [Option 1D = 12545]
A,B g [Option 1D = 12546]
A,D Zogdo [Option 1D = 12547)
B,C s0g8:5 [Option ID = 12548]

T e

63) mren dorsiddo cﬁ:aa;aom e Drrgen
A. BLhd

B. stod0d

C. Hoaw

D. B

[Question ID = 3138][Question Description = 52_qSNz_PG_TEL_Q63]
A,C Soad [Option 1D = 12549]
A,B Soada [Option 1D = 12550]
B,C sogsda [Option 1D = 12551]
C,D sorgsdo [Option 1D = 12552]

bt B

64) Sdotid Mol DewddH FIrdy DG
A. adad)

B. {yed

C. esdotiared

D. %o

[Question ID = 3139][Question Description = $2_qSNz_PG_TEL_Q64]
A,C iy [Option 1D = 12553]
B,C &g [Option 1D = 12554]
A,B 3rgdy [Option 1D = 12555]
B,D sty [Option 1D = 12556]

B R L ]

65) Dotd MPShD T JADD DY
A, oo

B. Zozriad
C. 5'g
D. éﬁlﬁ

[Question ID = 3140][Question Description = 52_qSNz_PG_TEL_Q65]
A,B Soada [Option 1D = 12557]
C,D s»ads [Option 1D = 12558]
B,D arg@o [Option 1D = 12559]
A,D Sorggado [Option 1D = 12560]

ol B
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66) 208 A B VOBl

e | e ||

A, *‘-chﬁafn [l.2oDE DHD
B. &dz |||.aéf:>;¢;;
C. BtoyAzo |||l.asu-m
D. && |IV.ﬁ%aﬁ

Choose the correct answer from the options given below:

[Question ID = 3141][Question Description = 52_qSNz_PG_TEL_Qé66]
1. A-ll,B-IV,C-111,D-I

[Option ID = 12561]
2, A-IV,B-11,C-1,D-11)

[Option ID = 12562]
3. A-l1,B-1Il,C-1V,D-1

[Option ID = 12563]
4, A-lI1,B-1¥,C-[,0-11

[Option ID = 12564]

67) 208 orBD a8 HoSed

Do | e Il

A. S . 20eay cibg.22.

B. &a I, do. H. IS
C. adw ll. 28 erap s o
D. tese IV. 28asrvs

Choose the correct answer from the options given below:

[Question ID = 3142][Question Description = 52_qSNz_PG_TEL_Q67]
1. A-LB-11,C-1I,D-1v

[Option ID = 12565]
2. A-11,B-1,C-I¥,D-11

[Option ID = 12566]
3, A-IV,B-III,C-11,D-)

[Option ID = 12567]
4. A-LB-I1,C-11,D-1V

[Option ID = 12568]

68) 30d o8 ad DY Sod

ardae | e |l
A, s . &2
B. Goomiand 11, 20885
C. gy 210y . w0
D. awigsyoro IV. Sots®

Choose the correct answer from the options given below:

[Question ID = 3143][Question Description = 52_q5Nz_PG_TEL_Q68]
1. A-1,B-1,C-1l1,D-1¥

[Option ID = 12569]
2. A-NILEB-11,C-1¥,D-I

[Option ID = 12570]
3. A-1,B-I1,C-IV,D-11l

[Option ID = 12571]
4, A-ll,B-1¥,C-1,D-111

[Option ID = 12572]

69) 208 oredd 2 DHSed

erdioe | erdiae |
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A. Tp0S roraie ol

I, aredeg Do

B. dored Di¥go Il.ar3ty et Awosyen
C. Xpormo Rogir e 96 I, 35 #odeb
D. 85008 Sswg) 0 IV. @erd dndyen

Choose the correct answer from the options given below:

[Question ID = 3144][Question Description = $2_qSNz_PG_TEL_Q69]

1. A-ILB-1V,C-1,0-11

[Option ID = 12573]
2. A-LB-1II,C-1¥,D-11

[Option ID = 12574]
3. A-IILB-1,C-1V,D-11

[Option ID = 12575]
4. A-11,B-1,C-1V,D-1II

[Option ID = 12576]

70) 208 S8 a6 BOSd

ardar |

Do

A.Allegorical Theory

I 0SS E Do

B.Isolated elements

1. esE huéaﬁo

C.Paradagmatic analysis

. asorssere bu;oﬂo

D.Polygensis

IV, HBrod somew

Choose the correct answer from the options given below:

[Question ID = 3145][Question Description = 52_qg5Nz_PG_TEL_Q70]

1. A-1,B-1I1,C-1v,D-1l

[Option ID = 12577]
2. A-11,B-IV,C-1,D-11l

[Option ID = 12578]
3. A-lILB-11,C-1V,D-1

[Option ID = 12579]
4, A-IV,B-11,C-111,D-I

[Option ID = 12580]

71) 208 &8 adh DUdod

e |

|as=e::a= I

A.e5coDE Firdg Didy Argo ||. £g DT D
B. 508 FIray &8 S8 G0 . Sogers ot
C. 898 Iirdg oo - 20 . edy deoass

D.&9s 3‘2?'&5 ﬁgsn

|IV. Pardoe

Choose the correct answer from the options given below:

[Question ID = 3146][Question Description = 52_qSNz_PG_TEL_Q71]

1. A-IILEB-11,C-1,D-1¥

[Option ID = 12581]
2. A-IV,B-11,C-111,D-1

[Option ID = 12582]
3, A-I1,B-1II,C-1,D-1V

[Option ID = 12583]
4. A-1,B-IV,C-11,D-1II

[Option ID = 12584)]

72) 308 &8 ad Dodod

ardar | ardar I
A 8o h . ariidasey
B.drdroororin Il.oeoSorpardogdo
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arddoe | erddae |
C.pdotr £A08 e, 88
D.O8erhotdndo IV.8asecd

Choose the correct answer from the options given below:

[Question ID = 3147][Question Description = 52_qSNz_PG_TEL_Q72]
1. A-1,B-11,C-I¥,D-1I

[Option ID = 12585]
2. A-11,B-IV,C-111,D-1

[Option ID = 12586]
3. A-LB-IV,C-11,D-11

[Option ID = 12587]
4. A-IV,B-1IL,C-11,D-1

[Option ID = 12588)]

73) 308 o8] adh Dodod

i | T

AL es8DE) Bodo l.eoctoges Sdurasren

B. ¥ Hodo fll .m@,svﬁ%:‘f} oroiien

C.Rotd dodo |||I.Eﬁ.}mu3aﬁu'nﬁ:rw

D. 30508 Sodo |IV.."~55§JM&.:J

Choose the correct answer from the options given below:

[Question ID = 3148][Question Description = 52_qg5Nz_PG_TEL_Q73]
1. A-11,B-1,C-1v,B-11l

[Option ID = 12589]
2. A-lILB-1V,C-11,D-]

[Option ID = 12590]
3. A-IV,B-1I1,C-1,D-11

[Option ID = 12591]
4, A-[,B-11,C-1¥,D-11

[Option ID = 12592]

74) 208 orBD a8 HoSed

Do | iweﬁa' I

A, 5300 ||. S0 e
B. 8835 |Il.i3mg5o

C. Sy ||||. 3¢50

D. S |N. Sctomy gt

Choose the correct answer from the options given below;

[Question ID = 3149][Question Description = $2_qSNz_PG_TEL_Q74]
T, A-LB-1IV,C-11,D-1

[Option ID = 12593]
2. A-lILB-1¥,C-11,D-1

[Option ID = 12594)]
3. A-IV,B-11,C-111,D-1

[Option ID = 12595]
4. A-1,B-IV,C-INI,D-II

[Option ID = 12596]

75) 308 o8 adh Dol

Do | kedee Il

A. apddde |, Firagods
B. 0% Il orasdahoay
C. addond . pogogs
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‘wﬁw | lea

YESET IV, 208038

Choose the correct answer from the otions given below:

[Question ID = 3150][Question Description = $2_qSNz_PG_TEL_Q75]
1. A-1,B-11,C-I¥,D-1I

[Option ID = 12597]
2. A-Il,B-NI,C-1,D-IV

[Option ID = 12598]
3. A-IV,B-111,C-1,D-11

[Option ID = 12599]
4. A-11,B-1,C-1¥,D-1II

[Option ID = 12600]

76) @ TEdgw SHd ghoo WEosed

A, do. . DT

B. % srody,

C. & uff

D. Rogod

Choose the correct answer from the options given below:

[Question ID = 3151][Question Description = $2_qSNz_PG_TEL_Q76]
D,A,C,B [Option ID = 12601]
A,B,C,D [Option ID = 12602]
C,D,A,B [Option ID = 12603]
C,B,A,D [Option ID = 12604]

B R L

77) o gxvo foBoisod
A, DE

B. 28,
C. g
o

D. 28,

Choose the correct answer from the options given below:

[Question ID = 3152][Question Description = 52_qgS5Nz_PG_TEL_Q77]
A,B,C,D [Option ID = 12605]
B,A,D,C [Option ID = 12606]
A,C,D,B [Option ID = 12607]
C,D,A,B [Option ID = 12608]

o

78) ey 3t o Thd SHe Fgsrdy hioded

A, Erddiod B g2

B. oy Dotits £

C. BoBotiodd Dotiorartogen

D. wddo wre 20 €2

Choose the correct answer from the options given below:;

[Question ID = 3153][Question Description = $2_qSNz_PG_TEL_Q78]
A,C,D,B [Option ID = 12609]
B,A,C,D [Option ID = 12610]
C,D,A,B [Option ID = 12611]
A,D,B,C [Option ID = 12612]

a2

79) Rdww 260 ErY) hloded

A, DHB HED

B. Surttard Hedio

€. 248 add Boneirid

D.ordoodhrenrids, oo Sotrd

Choose the correct answer from the options given below:

[Question ID = 3154][Question Description = 52_qSNz_PG_TEL_Q79]
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D,B,A,C [Option ID = 12613]
B,A,D,C [Option ID = 12614]
C,D,A,B [Option ID = 12615]
A,C,D,B [Option ID = 12616]

oW

B0) ardd foore HHOH gﬁ‘ﬁl thBotSoc
A.8805r&n SLoTe S88a

B.e2rd0¢ fotren

C.e208 Dipe g - q08d b, 7w
D.2paie Jrirdged’ vuoss Dorde

[Question ID = 3155][Question Description = 52_qSNz_PG_TEL_Q80]
B,D,A,C [Option ID = 12617]
C,B,D,A [Option ID = 12618]
D,4,B,C [Option ID = 12619]
A,D,C,B [Option ID = 12620]

B

81) DdodyTr fotd HHH EA,D) MHBosod

A ddrao Sr2rdgo

B.8Dd5 ¢g, dardo

C.2:%00, sv° 88 5o

D.3entod” Friray Dand,

choose the correct answer from the options given:

[Question ID = 3156][Question Description = $2_qSNz_PG_TEL_Q81]
A,C,B,D [Option ID = 12621]
B.A,D,C [Option ID = 12622]
C,B,A,D [Option ID = 12623]
A,C,D,B [Option ID = 12624]

bl D —

82) awfi(e araysde HOD Ay Mloded
A &,06 0

B.Roerame e

C.oroiy otoag

D.sairdodoes

[Question ID = 3157][Question Description = 52_qg5Nz_PG_TEL_Q82]
C,D,B,A [Option ID = 12625]
A,C,D,B [Option ID = 12626]
A,B,C,D [Option ID = 12627]
D,C,B,A [Option ID = 12628]

- TE

83) oraren 2oIFHTP) ©HA0DD HHR ey Moo

A Sottdd Dolbdd orabuen

B.A%dow ddorahen

C.orin Sdorahen

D.2dcts Sdoraben

Choose the correct answer from the options given below:

[Question ID = 3158][Question Description = $2_qSNz_PG_TEL_Q83]
A,C,B,D [Option ID = 12629]
B,D,C,A [Option ID = 12630]
D,B,A,C [Option ID = 12631]
C,4,D,B [Option ID = 12632]

PR e e

84) ®od 036" roTjEd Sy ReGw givo
A. &dg Dob

B. wdq 20bd

C. dg Dob

D. aberiidn Dod

Choose the correct answer from the options given below:
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[Question ID = 3159][Question Description = 52_qSNz_PG_TEL_Q84]
A,B,D,C [Option ID = 12633]
A,C,D,B [Option ID = 12634]
A,D,C,B [Option ID = 12635]
B,A,D,C [Option ID = 12636]

oL B

83) Bdse srogard)i Hbod hiodod

A. a0tz

B. es0g 206

C. edoth 6B

D. esgbysab

Choose the correct answer from the options given below:

[Question ID = 3160][Question Description = $2_qSNz_PG_TEL_Q85]
1. A,B,C,D [Option ID = 12637]
2. B,A,D,C [Option ID = 12638]
3. C,D,B.A [Option ID = 12639]
4. A,B,D,C [Option ID = 12640]

86) 308 DTH(D) , oD ( ) VG DowerP) MBSl
D 1TAD P vLrre $90 TG TR HIFS e
B 3DD PG e ogrreody abd DTy Do Vdrdodte SRR,

[Question ID = 3161][Question Description = 52_qgS5Nz_PG_TEL_Q86]
1. 2, & Dol 232D [Qption 1D = 12641]

2. D, & Boch pbseco [Option ID = 12642]

3. . 9856, tr.Hdeco [Option ID = 12643]

4. 9. %056 ,ir. HE56 [Option 1D = 12644]

87) 208 333 (D), oy () DEVYY Doworrdy HBosod.
D. arowipTHo DG SVErIE HEbiot B0,

e, Hovg dodoiien RHSDOMT BRTE S0E.

[Question ID = 3162][Question Description = $2_qSNz_PG_TEL_Q87]
1. (Q),(3r) Soclr B2 [Option 1D = 12645]

2. (2),{3r) Boch Hos~¢ [Option ID = 12646]

3. () 2B, (0) Lo [Option ID = 12647)

4, (D) 2oz ,(B0) HFad [Option 1D = 12648]

B8) 208 DF#(J) , 0P ( ) DEVYG DowerrRy HYedsoed
() wrorEsn DS L Loy B WrTRLIBEHHE.

(%) . 2o omiEE wodsd ::ga ©d sty

[Question ID = 3163][Question Description = $2_qSNz_PG_TEL_Q88]
1. {2)(5r) Boc HFHD [Option 1D = 12649]

2. (D) (&) Boch BTG [Option 1D = 12650]

3. (Q)»EDS, () wowdy [Option ID = 12651]

4, () Doz ,(50) 2556 [Option 1D = 12652]

89) 206 (D) , ;oD () HEVE Dowerrdy MBodsodt:
(3). ' asdBordn 0B ari Lrae RS - 0 phY
(). Ferd odd WHDJ ArHSVEE od ITPDOIE STel.

[Question ID = 3164][Question Description = 52_q5Nz_PG_TEL_Q89]
1. (D)(5r) Botir 285D [Option ID = 12653]

2. (D)(EP) Bocr Hos=c [Option 1D = 12654]

3. (D) %846 (¢) Hosecs [Option ID = 12655]

4. (D) Howa (3¢) 556 [Option 1D = 12656]

90) 208 DFE(D) , Erstoip ( Ir) HEE Dowerrd) MHBosSed.
(D) €3 D Boze DEG 3D BBosre $D HSae.

(&r). 8’8 DbomwananBé ghopwand €D pIATVMD ¢ Sy,

[Question ID = 3165][Question Description = $2_qSNz_PG_TEL_Q90]
1. (D)) Boddr 28D [Option 1D = 12657]

2. (D) (&) Doty Hosreo [Option ID = 12658]

3. (D) 206G (0) o [Option [D = 12659]

4. () v (57) 2356 [Option 1D = 12660]
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1) €08 Dovgdy $4D 23S Bhoh virmrare trabod
et #23Y) Dowdnd oirGan I & NS

OB Soborn Sbodabenotheh ot Bepd
SytErr Brobid i e SPosnd) S

&8 GG doSBoE HtodrSitc BES by S0b

a2 " eo0ls -

[Question ID = 3166][Question Description = $2_qSNz_PG_TEL_Q91]
eorrosocy [Option 1D = 12661]

cociacs [Option D = 12662]

Ardger [Option 1D = 12663]

gexely [Option 1D = 12664]

B R L

Z) 8ol DHrrg) BAD WD DR U DIrErEreL Trabod
e (5 Dowawe airgvon I &6 A&

DD Sobrorw SEvedohevrby Soff BN
88w Gobrabid yrdn Pmaw SPaivsyd

6 08 AbdB08 SN 36 Shyerid) Jé

# facﬁaoé‘ Hesbodd Fg[Question ID = 3167][Question Description = $2_qSNz_PG_TEL_Q92]
Hatharteo [Option ID = 12665]

e [Option ID = 12666]

i 36y [Option ID = 12667]

dorasach [Option ID = 12668]

T

3) 2ob DIyl SO FDNA VI 0D DAFEEEr Trabod
e 11453 Dowawds airgoon T 36 A S

DO Joborn SEodabeneridg Jof B
oSt Gobracdrd o apew 3oy 8

TG T8 A D SO 8 e%walanﬁ

& DSed” IV aerensryon[Question ID = 3168][Question Description = $2_qSNz_PG_TEL_Q93]
. 12 [Option ID = 12669]
. 14 [Option ID = 12670]
. 18 [Option ID = 12671]
16 [Opticn ID = 12672]

o

4) 206 HorY) SA WD PI VD HEFTTW el
wn (Y Dowdnes alr@don e &6 A&

DHE> Jobstorn Sebodabenoiitly Sorf S
SR o P e $Doivs S

6 Tl dDOLOeE HeoStic 5GS ﬁﬁ:hwc‘\&l&nﬁ

& Dge o £ Adeb[Question ID = 3169][Question Description = 52_qg5Nz_PG_TEL_Q9%4]
wdHED [Option 1D = 12673]

$Deyzm), [Option ID = 12674]

$DFogFa [Option ID = 12675]

Roderd 3558 [Option ID = 12676)

oL B

5) S0 Durgdy SHD UG Do didrEeRren trabed
et #2Y Dowdnd airgan I & NS

DHDH® ooy SBodahevothl dHotf ﬁﬂ%ﬂ)

S S8 Gobnatm Twan Tnsw oty S
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[Question ID = 3170][Question Description = $2_qSNz_PG_TEL_Q95]
rsaaci@ [Option ID = 12677]

R sakd [Option (D = 12678]

. 2,359 [Option ID = 12679]

€3, 00 [Option 1D = 12680]
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1) 208 Do 56D , "ar:)')iﬁ D oo asrwen oradiod
A SR QDTS

Srdo 8ot Td ID

[y Srdd> HiPYrS

REYYEOB & BodRw !

2 DoHew 2 PIAHDH BohHD

[Question ID = 3171][Question Description = $2_qSNz_PG_TEL_Q96]
26008 Hadb pdab [Option ID = 12681]

ARG Frira) pdc [Option ID = 12682]

S5 gmer pdod [Option 1D = 12683]

2acsg g0ee pded [Option ID = 12684]

L kad BRI

Z) 2o €205 SO , VAN BB 0D BIrwer Trabed
Qi ARy DTS

Ardo So TR I

Ay DR RDRYTPR

‘&‘Q)bdﬁﬁ oo !

" arde Sord PHITS | edy pyth drdesacd andop[Question ID = 3172][Question Description = 52_qSNz_PG_TEL_Q97]

#9030 [Option ID = 12685]
Seaodsoo [Option 1D = 12686]
trosan [Option ID = 12687]
#ces [Option ID = 12688]

P

3) 206 SDB DA , WD PI) LUH BTV CPabod
SRR B0 KDIPLTS

A S8 oo &R

Al B> HRPS

2363 T v |

oS Sgdodpdody Dheso[Question ID = 3173][Question Description = 52_qSNz_PG_TEL_Q98]

ol Desraas [Option 1D = 12689]
roxse Diaraon [Option 1D = 12690]
& Dax [Option ID = 12691]
Sresy Do [Option ID = 12692]

a2

4) Sob £DEM SO , QAND P LD BT Trobod
Brd e DPES

Srdo 8ot Td ID

[y Srdd> HiPYrS

REYYEOB & BodRw !
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"Ry (YL S T ey Y D Doderdd anaop[Question ID = 3174][Question Description = S2_qSNz_PG_TEL_Q99]
23cch D36 Sewe [Option (D = 12693]

paodts D56 seuo [Option 1D = 12694]

Shoaity 56 e [Option 1D = 12695]

B0 WAk sue [Option 1D = 12696]

R

5) 20b SDB BAH , WD DI UH BTV CPabod
AP B KDIPLTS

AR S0t TR IR

By B RDBTPD

‘&*’Q)bd‘-ﬁﬁ ~ sosdw !

b drorod” ey dereo[Question ID = 3175][Question Description = $2_qSNz_PG_TEL_Q100]
wt rigren [Option ID = 12697]

Sy tiewen [Option 1D = 12698]

mg. tigwren [Option 1D = 12699]

%oy eiezmes [Option 1D = 12700]
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